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CLASA a X-a: Probleme recapitulative – PRINCIPIILE TERMODINAMICII (subiecte BAC) 
 
1. 

 
R:  a. -  b. U2 = 900 J  c. L12 = 300 J   d. Qcedat = –660 J 
 
2. 

 
R:  a. -  b. T3 = 810 K  c. Q31 ≈ –17 kJ   d. L ≈ 2,5 kJ 
 
3. 

 
R:  a. -  b. ΔU12 = 500 J  c. Q31 = –700 J   d. L23 = 280 J 
 
4. 

 R:  a. -  b. ΔU23 = 13,5 kJ  c. L = 3 kJ   d. Q41 = –15 kJ 
 
5. 

 R:  a. -  b. Q12 ≈ 1,75 kJ  c. L23 ≈ –1,25 kJ   d. ΔU31 ≈ 1,87 kJ 
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6. 

 R:  a. L = 150 J  b. ΔU  = 450 J  c. Q = 600 J   d. C = 16,62 J/(mol∙K) 
 
7. 

 R:  a. ΔU23 = –7479 J b. γ = 5/3 ≈ 1,67 c. L31 = –2,7 kJ   d. Qcedat ≈ –10,2 kJ 
 
8. 

 R:  a. -  b. T2 ≈ 406 K  c. V1 ≈ 1,0∙10-2 m3 d. Q123 ≈ 3,9 kJ 
 
9. 

 R:  a. ΔUCD = –900 kJ b. Qcedat = –1150 kJ c. Ltot/Qp ≈ 0,15  d. -  
 
10. 

 
R:  a. -  b. Vmax/Vmin = 1,5 c. CV = 1,5R  d. L = –997,2 J   
 



3 
 

11.  

 
R:  a. -  b. Q = 0  c. T2 = 960 K  d. ΔU12 ≈ 8,2 kJ   
 
12. 

 
R:  a. VC = 6∙10-3 m3   b. ΔUAB/ΔUCA = –1  c. L = 590 J  d. ηC ≈ 91,7% 
 
13. 

 R:  a. ΔU23 ≈ –2,5∙104 J   b. L ≈ 104 J  c. Q34 ≈ –3,5∙104 J  d. η ≈ 22% 
  
14. 

 
R:  a. -   b. Qcedat = –7063,5 J  c. T2 = 450 K  d. L = 415,5 J 
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15. 

 
R:  a. -   b. Ltot = 3 kJ  c. η ≈ 9,1%  d. ηC = 50% 
 
16. 

 
R:  a. -   b. Qprimit = 780 J  c. η ≈ 10%  d. ηC = 50% 
 
17. 

 
R:  a. -   b. ΔU31 = 36 kJ  c. L = 12 kJ  d. η ≈ 22% 
 
18. 

 
R:  a. T3 = 600 K    b. ΔU23 = –7479 J c. C12 = 16,52 J/(mol∙K)  d. η ≈ 8,3% 
 
19. 

 
R:  a. -    b. Ltot = 2493 J  c. η ≈ 10,5%  d. ηC = 75% 


